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1. What

1s Per-Capita Income ?
S IV ROTIen 2

2. What is Net National Product (NNF) 7
SN Coqrods IR, oomdes> ?

3. What is Sex-Ratio ?
COMINTZ 20TTeI 9

4. Define the Family Planning.
Lo cdRexd oudes 9

5. What is Green Revolution ?
TLL TOE 0TI ?

6. Expand NABARD.
NABARD @, ©%0A0.

What 1s Privatization ?
o pr a4 191%, OOTWBE ?
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clnPToodne 5 a1 ts.
IR TR, 1F §0dtvRy, sy,

8. Write the names of four Heavy Ing

9. Expand IFSC,
IFSC 0333.“34 QTOAD.

10. What is New Economic Policy ?
DX GHEE Ded somdes 9

11. Write any four benefits of Liberalisation

¢~‘:mbw 3 - =~ e
J CEOrRT Svey ;‘.g.,.mn:’‘,,.s!-rwit.i?‘.o_i LoWY,

12. Write any three names of the NO“-BElnking Institutions.
CORPToTOR I 0830 NOJNG, Bxor.

SECTION - B / oyt — @

Answer any two of the following questions.

$9NT atRYREts So@ g e LWIORO.

13. Explain the problems of calculation of National Income,

R . —fn o
Toqcod omRobIE, w3 Spamen FoBVRT TNENCD, ATOLO.

14. Explain the benefits of Regulated Markets.

QoLod (EWG) SRUTHY TBodeemdnYR, wWitr 10,

15. Discuss the control of overgrowth of Population.
SHEED zﬂ@c:‘m%d:ﬁ 23040

’

16. Explain the problems of Heavy Industries in India.

GRUSHY 1T §ROIME STORILT WA, HHOAO.
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Explair 7 i
plain the benefits ang limitationg of Green Revolution.

AL 00300 eDELOd s RISy, LSTOXD.
. s

19. Explain the Merits and Demerits of Globalisation.

5
N3P0 D CERLINW Tene TotRe3nym. DTOD.

20. Explain the salient features of 1991 New Industrial Policy.

1991 O Tex 4080 3ol OFnv, ITOAD.
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